GEAR-WORM REDUCER SERIES

MODEL : AS057

A

120
Ma
J
189
112
Via
V?EJ

, | —
100 73 | 73 8-M8X1.25
146 deep16
4-M10X1.5
deep20
@&
o - |
(o]
& &
17T
58.5 |58.5
AR Input
P DAB
4-A7
A1
h |
\ A3 G | 1
- [@\=| "
ATV \&%) o A7
& 4, ‘ < N7
Input Flange (|1® WE OA4 \/@
N £/5
0] Input Shaft
A8
P A8
unit: mm
| power | a2 | o | oa | oA | oA | ar | oA |
0.4 kW 29 16.3 5 14 130 " M8x1.25 160
0.75 kW 45 21.8 6 19 165 13 M10x1.5 200
1.5 kW 45 27.3 8 24 16 M10x1.5 200

Cc7



B5 IR & RUR # R 5 GEAR-WORM REDUCER SERIES

i IR ~F Output
150
72_|_ 160
383 8 = 60
=5 ; Ny TE i
£ S 1=E=1L o gﬁ — |
e S %
Output Shaft N 55 " 530 =S —
4 Hollow Output Shaft Solid Output Shaft

d
chZe ) , BT

-

RIEE ]

"

Torque arm [%

‘ \ 7
' \.

2104

71\
\_/

160

(oo}
P it e
Flange

BFRRELD
35

20 5.61 72 272 144 1.36
30 53 4.28 108 2.10 216 1.05
40 71 3.42 144 1.68 288 0.84
45 76 2.90 154 1.43 309 0.71
60 101 2.38 206 117 412 0.58
80 132 1.80 268 0.88
90 132 1.71 268 0.84
100 135 1.33 274 0.65
120 176 1.39 358 0.68

140 (143.5) 202 0.99 411 0.48
160 226 1.04 458 0.51
180 232 0.80
200 270 0.79
240 310 0.64

& UMING  C8



